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C.G.EMRS Model Question paper
T — 01 ARG & fdsrd

Que.(1) Find out from amongst the four alternatives as to how the pattern would appear when the transparent sheet is folded
at the dotted line.
TA(1) = et § F sra Friong st areeeft ofte i e Tt o gt A g a7 e et Rt Tm

1 S S sl :
) @) @ @) @)

Que.(2) Identify the figure that completes the pattern.
WA (2)  SH A B TEATHT ST 7 Ted 1 T FAT 8.

? A

(X) 1) 2 (3) (4)
Que.(3)Choose the set of figures which follows the given rule.

T4(3)  Taw T A= T qrer A AT SRSt % qg w FAT i

Rule: Any figure can be traced by a single unbroken line without retracting.

e &g oY srepfar fomT i 2¢ us aaq v gy @ S awdt 2

R
(2) ﬁ@[]‘_\
S ESINES

A

Que.(4)Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure (X).

75 (4) T Ffow & argfa (X) § R 1w et § - smha (1), (2), (3) $i¥ (4) F9T1E 51 9t &,

oY > IES

(x) (1y (2 (3 (4

Que.(5)Select a figure from amongst the Answer Figures which will continue the same series as established by the five
Problem Figures.

T(5) ITAL AHAAT H T I SATH(T T 7T FHY ST TiA1 GIT AT @AT T T AT

Problem Figures: Answer Figures:
1s1S11A¢ [ of Q[T ok OO
(A) ® © O (B @ @ 3 @
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Que.(6) Choose the alternative which is closely resembles the mirror image of the given combination.

77.(6)  SH Ao #1 99 w1 ST R U HAS F g9 iatee & 96 an

MALAYALAM |
(1) MALAYALAM  (2) MAJAYAJAM
(3) NVTYAYTYIN  (4) MATAYATAM

Que.(7)Choose a figure which would most closely resemble the unfolded form of Figure (Z).

T (7) U VT ST 1 799 F2 S = (2) F g gu w9 F g AfaF Herdt-sedt g

X Y e
=l m] i O O
1 38 [Fa] [
m| o7 O O
(1) (2) (3) (4)

Que.(8)Choose the alternative which is closely resembles the water-image of the given combination.

T (8) 3H faed &7 73w FL ST AU MU €A 6T TA-Nidtaa & FTh fHaar aar &.

ACQUSTIC

e

ko

(1) YI0NSLIC (2 Yeonal e
(3)YCONSLIC  (4) YeoneT|Ic

Que.(9)What should come in place oOf ---------==---m-------
D ) R F TITT 97 T A1 AT

CG : Raipur :: MP:
(a) Bhopal (b) India
(c) Pune (d) Mumbai

Que.(10) Pattern completion
w7 (10) ferferfera de &1 qor it
A AB ABC

(a) DACB (b) DCBA
(c) CBAD (d) ABCD
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HAT — 02 BT e

4816—1381 ¥ IRdfdd 3R ST DN |
(31) 3456
(@) 3400

25 HGIGRI B Ush faeT @l HSIgYl 1750

w0 ¢ | a3y U AolgR @ B H
fhde ®UY JAMUI?

(31) 65

@) 60

U GHMER 525 . H U Ul
ERIET 3R 575 . § 991 @ S fohan
o™ A7 BN g8 °?

(@1) 25 . &I 4 (Profit)

(@) 25 ®. P BT (Loss)

e 12 {61, AR &1 a8 60 T ©

(Find the actual difference in 4816—1381)
(|) 4523
() 3435

(One day wage of 25 labours is 1750 rupees, then
find out the share of each labour.)

) 70
) 40

NN

(A shopkeeper bought a fan in Rs. 525 and sold it
for Rs 575, what was his profit or loss?)

() 50 . BT B (Loss)
(g) 50 ®. BT a4 (Profit)

(If the cost of 12kg tomatoes is Rs. 60, then what

a1 15 f3T. <AER BT qod fbaem grm? will be the cost of 15 kg tomatoes?)

@1) 75
@) 85

3,4,6,7,10 T 3d 918V |
(@) 8
@) e

16, 32 HEH FHMUIID ST DN |
(1) 16
(g) 4

HIT ddigU— 77.6 +75.12

(9) 60
() 80

(Find average of 3,4,6,7,10.)
(W) 5

() 4

(Find HCF of 16,32)

(@) 32

() 8

(Solve:- 2 +3)
7 7

(Find the value of 77.6 + 75.12 )
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@) 15272

@) 150.72

THh U B HIFT 450 ©UF B | U 7 U

WNIed WX fhay w0 @ 8h?
(31) 34.20

(9) 152.68
(2) 140.37

(If the cost of one pen is Rs. 4.50 then how
much it will cost to buy 7 such pens.)

(9) 31.50

(@) 30.50 () 36.70

HIAT —03 HIYT
e gof TReR eTreq B R/ BIRTT |

P.. o

(e1) # &) =
@) o (@ =1
g1 et qaigard 2°?
@n) fa= (@) us
(q) wef (%) 99=
AP V] B folU TH Ireq 98T —
ST 9 1 81—
(e1) o (@) R
(d) arged (@)
Tg UPh g9l Raclr 2| faeivor gasy |
(31) Tt (\) a1z
CIRER (@) Raeirn
HTIE H I 9dTsV |
(e1) & (@) =
(@) werH (@) T




Read the following passage and answer the following questions:-

There are wild dogs and pet dogs. Pet dogs are helpers and friends to people. There were no
pet dogs 15,000 years ago. Men and women learned how to work with dogs. Dogs helped humans
travel from Asia to North America 10,000 years ago by pulling sleds in the snow. People say dogs are
‘man’s best friend.” They help with farming. They help with hunting. They help with fishing. They can
pull things for people. They can help find things. There are many colors of dogs. There are white
dogs, gray dogs, black dogs, and brown dogs. A dog’s fur can be short or long. Dogs have curly hair
or straight fur. There are very small dogs. They are only 6-8 inches tall. There are very big dogs.
They are about 3 feet tall. Some dogs can see well. Some dogs do not see very well. All dogs can
hear well. They can hear sounds that people cannot hear. They can hear high sounds and low
sounds. They can hear sound very far away. All dogs can smell very well. They can smell 40 times
better than humans! Dogs live 5 to 13 years, but some dogs live much longer. One dog lived to be 24
years old!

Answer the following Questions:-

6) Dogs helped people go to America by...

A. pulling sleds in the snow. B. helping with farming.
C. helping find things. D. None of the above

7) How tall are the smelliest dogs?
A.3 inches B. 5 inches C. 6 inches D. 13 inches.

8) How tall are the biggest dogs?

A.1 foot B. B. 2 feet C. 3 feet D. 5 feet

9) What can all dogs do well?

A.see B. hear C. smell D. Both B and C are correct
10) How old was the oldest dog?

A.5 years old B. 10 years old

C.13 years old D. 24 years old
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YT 11 :  “SHA 919 PR HRAT’ BT fawl et |1 BRI ?
AT 91 RIT 81 B P B. 0T 91 Rl N 27

C.UT 91 B BT &7 D. V¥l 9Td ®al &HRd &7
g 12 PO P dEa § ?

A. ST B. Al

C. gael D. JEdHT

U 13 g9 @ w97 $1 B a1 /a1 BRI ?
AEA forga <fzar B. 899 forad &+
C.z97 feores D. ga foraat

UeT 14 : freforaa 4 @ o9 =1 & ?

A ETET B. fazel

C.SliedT D.BY

g 15: N @il C qar g ?

A. TS & g HART B. |IF &1 BN

c.afafsr & fow == D. s 999 &1 BRI
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